She is years old.
Answer:

He is years older than me.

Answer:

I am years younger than her.

Answer:

He is than me.

Answer:

She is than him.

Answer:

I am years old.

Answer:

We are both years old.

Answer:

You are than me.

Answer:

I am youngest in the family.

Answer:

He is eldest in the family.

Answer:




Answers

She is years old.
Answer: fifteen

He is years older than me.

Answer: fifteen

I am years younger than her.

Answer: fifteen

He is than me.

Answer: younger

She is than him.

Answer: older

I am years old.
Answer: fifteen

We are both years old.

Answer: fifteen

You are than me.

Answer: older

I am youngest in the family.
Answer: the
He is eldest in the family.

Answer: the



